STATISTIKA = prehled vzorcy

1 1- 1 1-
(-2 vrer B oo B )

S S
(J? - U1—a/2°% X+ Ul—alz'% ) , ()_C - tl—a/2(n_1)'% X+ tl—a/Z(n_l)°% )
Ho m=mg  T= (p=m):n Hi: 1m0 .o W = (-003-Un_as2) U (Up_oy:c0)
1/7r0i1 -7, )
Hi: m>mg ... W =(U1_o; )
Hi: n<ng ... W = (-00; -Up_q)
—u)-Jn
Ho: p=po T= (x ,u(;) ? Hi ptpo oo W= (-005-Ug—2) U (Un-gy2;%0)
Hi: p>po ... W= (Up_g; )
Hi: pu<po ... W= (-00; -Uz—¢)
= _ “\/_
T= (x /uo) Hi: pzpo .. W = (-00;-t1_g2(N—=1)) U {t1_g2(N—1);00)
s
Ha: p>po ... W = (t1-a(n-1);00)
Hi: <y ... W = (-005-t;_(n-1))
L _0,/r=1) _ 2 e o
Ho: ppi=..=py T= 0 fnr) Qror = s*(n-1) =%;_4 Zj:1 iy ) = QvtQm
r _ —\2 r n| — \2
Qm=Z;_q (¥i=y)"ni Q=24 Ejzl (Yii—yi) W= (F1_o(r-1, n—r); oo)
— r (”i —9 )2 — /.2 —
Ho: P(w)=ma,... P)=ny  T=Xi_y T W= (y 1-o(r—1); ) (0i = n-m;)
l 2
o rss W _Oij) 2 _
Ho: nezavislost T=%_4 Zj:1 W= (3 "1-a(r=1)-(s=1); ) (05=(NisNej)/N)
Cp = T q-1 )
P VT +n <0, A> g=min(r,s) (p:\/f V = T (01)
n n(g-1)
MY=MmF+m]) P = M M}
by = 2222 bo= y—byx
x*—X
Q=Z(e)? Q=E(i—7)*  17=1-Qe/Qy se’ =Qe/(n-)
0,-0.)(p-1
Ho: B;L:...: Bp_1=0 T= ( 4 ) W= < Fl_a(p—l, n—p); OO)
Q. /(n—p)
- Xy—Xx-y . — r
r=— == Ho: p(x,y) =0 T = n—2 _
\/(x2—)?2)-(y2—)72) \/]? W = T’|T|Zt1‘;’(n_2)

A=Y Vi1 Ke=Y /Y1 b=y Yo re=d/ye1

STATISTIKA = prehled vzorcl




